
2014-2018 RZR XP Front bumper 
Installation Instructions. 

DEVIANTRACEPARTS.COM

LBZ/LMM EGR Delete 
 CHECKLIST

꤀ (1) - EGR Delete Pipe

꤀ (1) - Hose Barb Fitting

꤀ (1) - 3’ Hose Section 

Packaged By: ______________________________ Date: ________



Tools you may need:

DEVIANTRACEPARTS.COM

• 17mm Socket

• 19mm Socket

• 3/8" Ratchet or impact

• 6" or longer extension 

• 17mm End wrench



DEVIANTRACEPARTS.COMDEVIANTRACEPARTS.COM

1. Begin by removing the grille.

2. Place the bumper into its location and loosely install the two upper bolts into their 

mounting holes. Do not tighten at this time.

DRP PCV Re-Route Package
04.5-10 GM 6.6L Duramax 
Package includes Re-Route Kit & Resonator Delete Plug 

Part #: DRP-76110 

Kit comes complete with the following:
-6’ of Black Hose 
-1 PVC barbbed Tee
-2 Billet 1 Piece O-Ringed Valve Cover Fittings 
-4 Zip Ties 
-1 Billet O-Ringed Mouth Piece Plug
-1 Billet O-Ringed Resonator Delete Plug

(Eliminates 6.6L Box on top of motor)



DEVIANTRACEPARTS.COMDEVIANTRACEPARTS.COM

3. Now thread the two lower bolts in using the factory nut bracket. 

4. Tighten the two upper M10 bolts making sure the bumper is level.  

OTHER GREAT PARTS FROM 

DRP

DRP 3”  “Hotside” IC Tube 
For 01-10 Duramax 
Works on stock and aftermarket intercooler  
systems with factory-style inlets. Better 
performance, faster turbo spool, and lower EGT 
with potential to improve drivability and mpg.



DEVIANTRACEPARTS.COMDEVIANTRACEPARTS.COM

5. Now tighten the two lower M12 bolts, and re install the grille.

33. Fill coolant reservoir.

34. Reconnect batteries.

34. Start engine and check for leaks.



LBZ/LMM EGR Delete 
INSTALLATION INSTRUCTIONS

DEVIANTRACEPARTS.COM

Front bumper 
Checklist

o (1) Bumper

o (2) M10 Bolts

o (2) M10 Nuts

o (4) M10 Washers

o (2) M12 Bolts

o (2) M12 Washers

Packaged By: ______________________________ Date: ________  


	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page



